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Section 1 - Reasoning

No. of Questions: 50

1) On the top of a building, flags of different countries furl. The Mexican flag is placed 12th from the
left and 13th from the right. Find the total number of flags.

A) 13
B) 16
C) 24
D) 28

1) U HaeT o 2N o1, Faffieer i & 513 e @ & | Toas AfFaent 1 &gt s1if 3R & 12 3 3R grft
IRV 13 TUTT W | T3 T el TEAT T AT A2MT?

A) 13
B) 16
C) 24
D) 28

2) Select the option that will make the second pair analogous to the first pair.
Fuel Gauge : Fuel levels :: Anemometer : ?

A) Wind
B) Ink

C) Density
D) Volume

2) 39 fehed &l Tl & ST g@T SIS ! Tgell SIS & AEY SAT0aT|

TGl ISl : T oldel : TATHAIAC : ?

A) fig
B) &=

C) srdy
D) afeagst
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3) What is the next term in the number series given below?
32,31, 33,32, 34, 33,35,34

A) 36
B) 32
C) 33
D) 35

3) ofrer &Y 91S HET H@ell H 3T T, 47 572
32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

4) What is the next term in the number series given below?
3,21, 42,294..

A) 588
B) 2058
C) 1818
D) 1991

4) <y & TS TEAT AT 7 37T 6 4T 57
3,21, 42, 294..

A) 588
B) 2058
C) 1818
D) 1991

5) The average age in a family of 7 members is 28 years. A baby is born in the family. What will be
the average age of the family when the baby will be 6 years old?
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A) 29.5 years
B) 30 years
C) 30.5 years
D) 31 years

5) 7 FEEA dTel IRAR # 34 3 28 IY & IRAR # Teh Tod T ST 37T & | ST ST 6 Hiel 1
BIaTT dl IRER 2T 3Tt 3 fevciatt g1af?

A) 29.5
B) 30 a§
C)30.5a¥
D) 31 a§

6) In a certain code GIPPLE is written as 613382 and LIFE is written as 8192. How is PILLEG
written in that code?

A) 318826
B) 776655
C) 786543
D) 156724

6) U fAfTd e A GIPPLE %1 613382 % 9 H 3R LIFE %Y 8192 & &Y # for@r ST &1 PILLEG &Y
39 % # H9 forgr siean?

A) 318826
B) 776655
C) 786543
D) 156724

7) What can be the coded form of the string COLD from figure 1 and figure 2?
Figure 1:
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A) 44, 96, 95,
B) 31, 99, 77,
C) 30, 66, 86,
D) 10, 85, 79,

22
22
43
24

7) R 1 3k R 2 & et coLbd a:ragaagr%mgmmwg‘rm‘s‘?

IGERE
01213 |4
O|D|IK|A|E|C
1|C|ID|K|A|E
2|K|[C|E|A|D
3] K|C|DJ|E|A
4 | EID|IA|K|C

=T 2:
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\O|oe| ||

C O v (v
O|Z|Z ||
W= Z (O
Z|9|o|r ||
=llallalleli4h=

A) 44, 96, 95, 22
B) 31, 99, 77, 22
C) 30, 66, 86, 43
D) 10, 85, 79, 24

8) Which of the following statements can be used to take a decision on this question: Is P>Q?
A) P =30

B) Q =40

C) PQ = 1200

D) Question cannot be solved

8) 3 U W 0T ot & ToIv feafaif@d & & foha et o1 3uter fohar ST @ehar & : 31 P>Q 87

A) P = 30
B) Q = 40
C) PQ = 1200

D) garear go o1&l & ST Tl &

9) How many triangles are there in the following figure?
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A) 4
B) 5
C)7
D)8

o) PR R 3% Rraret Prsger 82

A) 4
B) 5
C)7
D) 8

10) Which of the given option will NOT share the same property as the elements of the given set:
(10, 20, 30, 40, 50)?

A) 70
B) 90
C) 77
D) 60

10) few 917 fasheq & @ wleT @1 faehed few a1w A (10, 20, 30, 40, 50) & dedl & FHTET J[0T I HIST
STET hYaT?

A) 70
B) 90
C) 77
D) 60

11) You are given a statement.
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Statement: This is a leap year.

Which of the following questions can be answered by using the given statement?

A) Is this year 19667
B) Is this year 19727
C) Is this year 19887
D) Is this year 19967

11) 3T9hT Teh T TGIT AT & |
FYA: TETH AT av g |
feT 37T 2T T 3TN ek [T & A fhF 92T &1 34T &A1 31 Feham £2

A) a7 Tg a¥ 1966 82
B) oo o8 9§ 1972 87
C) & 7g ¥ 1988 &7
D) arar o8 ¥ 1996 7

12) A Salesman is entitled to X 15 for every km being travelled by car and % 5 for every km being
travelled by bike. In a day, if he has made a claim of ¥ 600 after covering 90 kms, how many
kms did he travel by bike( Consider he has used only car and bike for traveling)?

A) 25 kms
B) 45 kms
C) 75 kms
D) Data Insufficient

12) Teh HedHeT HR GIRT ATHT Ha I % 15 9id ForeT 3R S1geh @R’y Irar aded W % 5 i fomadt
TG 9Tt T ITDRRT g1 TS T Tt H, 381 90 fohelT T AHT ai¥et & &1 % 600 T GTaT fohaT §,
ar 39 fohder frelteeT ase & 1T T 872 (AT of [ 3899 I & fAIT shgel R 3K a5 &7
SEIATS fohaT §)

A) 25 fFaY
B) 45 &Y
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C) 75 fre
D) 31iers 3rqaica &

13) Sunil told that Mohit was the son of the only brother of his father’s wife. How is Mohit related to
Sunil?

A) Son
B) Maternal Uncle

C) Cousin
D) Brother

13) Geiter o ST foh AR 3Heh AT T Teail o ThATS TS T 9T § | AlGd Feitol ohl AT o137l 572

A) Jer
B) aren/atan
C) 7o 58
D) g77&

14) What do all the four names given below represent?
(Croatia, Morocco, Kosovo, Ukraine)

A) Capitals
B) Countries
C) Religions
D) Languages

14) Frr fU 31T IR AT 71 g2ATc §7
(ITTRIT, ARIeFRT, ST, Gehol)

A) rerenfarr
B) gar

C) ey

D) st
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15) In how many different sets can the given set be classified if classification is done on the basis
of number of digits in term?

(562, 1782, 987, 110011, 3562, 34)

A) 3
B) 4
C)5
D) 6

15) fow 1T J< I fretet et et 3 qafferar v o wohar § AR 3 effentor ug # 37t & MR
e SIrar 872

(562, 1782, 987, 110011, 3562, 34)

A) 3
B) 4
C)5
D) 6

16) A cube is painted on all the faces with same colour and cut into 27 smaller cubes of equal size.
How many cubes are painted exactly on 2 faces?

A) 24
B) 28
C) 32
D) 12

16) Teh TeT & G Feleh T Teh &1 T & Ue 7ar Sirar § 3R G 3R & 27 DI g7 & el ST &
fohdest gt & ST 2 Fodeh UX Ue T I=m 872

A) 24
B) 28
C) 32
D) 12

17) Select the option that will make the second pair analogous to the first pair.
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Soldiers : Army :: Nomads :

A) Horde
B) Heap
C) Herd
D) Bundle

17) 39 fdehod &1 T4 Y i GET SAIST 1 Tgell il & HHET Sall o
i Jar :; doI I

A gis
B) a1
C) Yas
D) areat

18) Select the option that will make the second pair analogous to the first pair.
6:219::9:?

A) 221
B) 263
C) 325
D) 732

18) 39 Taehed T Thel Y ST GH SST &l Tgell SiIS! o HHATY SAT0a|
6:219::9:?

A) 221
B) 263
C) 325
D) 732

19) If every second Thursday and all Sundays are holidays in a 31 day month, beginning on
Thursday, then how many holidays will be there in that month?

Page100f85



Setld: 61787 3 Technical Assistant (LAB) - Mechanical BATCH2 180CT2020

A) 4
B) 6
C)3
D)5

19) AR TEAR & 2[F &1 aTer 31 et & AEN 35X g Tear 3R Tl AaR A g @}, A 3|
7 3 Rrcreht gt gieir

A) 4
B) 6
C)3
D)5

20) What is the missing term in the number series given below?
, 175, 25,9, 108, 12, 7, 133, 19, 12,72, 6

A) 7
B) 9
C) 11
D)5

20) ofrer &Y 1S HEAT AWl H HeTUEUT S F1 52
, 175, 25, 9, 108, 12, 7, 133, 19, 12, 72, 6

A) 7
B) 9
C) 11
D)5

21) Two natural numbers have same number of digits and their sum is a 3-digit natural number.
What could be the minimum value of their product?

A) 900

B) 1200

C) 2500

D) Cannot be determined
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21) &Y GTehfcieh TEAT3T H THAT 37eh & 3R SoTehr 19T 3 37ehl T Frehfieh TEAT 8| 3eTeh I[UTTthol T
AT HIeT AT §1 Hebell 572

A) 900
B) 1200
C) 2500

D) e 7€ frar s gsar

22) What is the coded number for WVCZVS from the following figure?

LETTER: CZNVRSWFD

CODEDIGIT:864729351

A) 376669
B) 378677
C) 378679
D) 388679

22) TG TR & WVCZVS & it sHhesetr J&m #3752
LETTER:CZNVRSWFD

CODEDIGIT:864729351

A) 376669
B) 378677
C) 378679
D) 388679

23) Which of the given set of statements should be used to answer the given question: Is P < Q?

a) P is a perfect square.
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b) Q is a perfect cube.

A) Only a

B) Only b

C) Both a and b together

D) Not possible to answer even with both a and b

23) f&T 31T 99 FT 3T ot o ToIT U 1T AT H T ThTRT 39T fhaT =T A1figT: Fa1 P < Q2

a) P Teh quf &9t &l
b) Q Ueh qUT &1 gl

A) Fael a

B) gl b

C) a 31 b a1t T @y

D) a 31 b &=t & @mer sfY 3o 77ET A o Fepar @

24) How many hexagons are there in the following figure?

A) 3
B) 4
C) 10
D)9
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24) TFAfaTad T 7 fhde YeahluT 82

A) 3
B) 4
C) 10
D)9

25) A set is given, (Mathematics, Algebra, Trigopnometry, Geometry). The sets given in options are
similar to it in a certain way EXCEPT one. Find the set that is different.

A) (Physics, Mechanics, Optics, Electromagnetism)
B) (Biology, Photosynthesis, Elections, Weather)
C) (English, Grammar, Comprehension, Writing)
D) (Chemistry, Reactions, Compounds, Molecules)

25) T T (A0, derriorg, Berfala, sanfafa) fear s/ g fases & fu st Jei 7 & v i
BIgHT arehl THT Teh AT alieh & THT ¢ | fAesT A ATa |

A) (stifedr, it g, fega gasca)

B) (Shrafaairer, werer weeror, goira, Hiwe)

C) 315N, STTERT, LR, 2IEs)

D) (varae faamer, wfafsard, ifées, smo)

26) You are given a statement.
Statement: Number P is an odd number.

Which of the following questions can be answered by using the given statement?

A) Is P a prime number?
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B) Is P a composite number?
C) Is (P+1) divisible by 2?
D) Is (P+2) divisible by 3?

26) 3! Ueh H fGar IAT & |
FYUeT: TEIAT P T AYH &7 |

feT 7T FUAT T 3TN Flah e F T T 92T ol 3R 63T 3T ohdT §7

A) FT P Teh 38T TEAT &7
B) = P ve wed WA §7

C) & (P + 1), 2 & fasrsa &7
D) &ar (P + 2), 3 & fassa &2

27) Which among the following statements will conclude that “Mahesh has a sister™?

a) Mahesh is the only son of his father

b) Mahesh's father has two kids

c) Mahesh’s mother is the only daughter of Rajesh
d) Mahesh has a cousin whose name is Seetha

A)aé&d
B)a&c
C)c&d
D)a&b

27) ATaf@d Fya1 & & fFaQ I Fhy A for "ager i ve g5 82

a) HE 3791 T T ShollcT IT &

b) FAeAar & T h ara=d &

C) HQL T AT ST T Shelldl ST g

d) HELT T Teh TR F&T ¢ TorenT AT il &

A)aé&d
B)a&c
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C)cé&d
D)a&b

28) There are 160 children in a class comprising of two sections — A (with 100 students) and B
(with 60 students). The average marks of the students of section A is 75 while the average marks
for the entire class is 76. What is the average marks for the students of Section B?

A) 77.33
B) 77.67
C) 78.33
D) 78.67

28) & g7 aToY Ueh heTT H 160 I3 §, J97 - A (100 BTaT & 912N i 391-B (60 &3 & @r2) | 997 A&
oAl 1 3T 37k 75 § STafeh G el o ToIT e 37k 76 &1 @27 B & oAl o folv e 37eh fohcer
87

A) 77.33
B) 77.67
C) 78.33
D) 78.67

29) Showing the photograph of a man, Harish told that his mother was the wife of my father’s son.
If Harish is the only son of his parents, whose photograph was shown by Harish?

A) Son of Harish

B) Father of Harish

C) Brother of Harish

D) Grandfather of Harish

29)Wmﬁraﬁm%@ﬁgefrarﬁm,%w@rﬁmma%aﬁaﬁrm%l e glrer 319et
HATT-TACT T ThATT G &, A6 g1 o Tehdrehl AR fewms?

A) glrer &1
B) gfrer & Rar
C) gver &1 a17$
D) gdrer & arerai
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30) In each of the pair given in options, Country and its capital is given. Identify the INCORRECT
pair.

A) BANGLADESH - DHAKA
B) CANADA — OTTAWA

C) COLOMBIA - BOGOTA
D) EGYPT — BERLIN

30) faehenl & 3T 71T gcde 1S &, 321 3R 3T Torerrel & a1$ & | arerd SisY &hr ug=net |

A) ST - TRl
B) &erar - 3ferar

C) rcifarar- sreer
D) farer - aferer

31) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:

o e £ e 11201 2 R o) i

(A) (B) © D) (1) 63 3) C))

A) 1
B) 2
C)3
D) 4

31) hleT Y 30X 3MTR{CT &F 3T THEAT I & deat sl Q@I FM?
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Problem Figures: Answers Figures:
- -
el 2 o] [ e
(A) (B) © D) (1) €3] 3) C))
Al
B) 2
C)3
D) 4

32) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:
(A) (®) ©) D) (D @ (3) C))
A) 1
B) 2
C)3
D) 4

32) ahleT & 3T 1T & 915 FHEAT 3T & Yot &l U HEM?

Problem Figures: Answers Figures:
(A) (B) © D) ¢)) (03 3) C))

A) 1
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B) 2
C)3
D) 4

33) Which answer figure will complete the pattern given in the problem figure?

Problem Figures:
7 N 0
A 7l A
A) ®) © (D)
A) 1
B) 2
C)3
D) 4

33) ieT HY 3a I &F 1S e 3Tl & et hl O Hai?

Problem Figures:
7 N 0
A 7l A
(A) ®B) © (D)
A) 1
B) 2
C)3
D) 4

Answers Figures:
O N & &
A ¥ % ‘e
(D (2) 3) )
Answers Figures:
¥ N o &
' 7o e
D 2 (3) &

34) In what way can this set be classified into two different sets?

(17, 21, 289, 27, 729, 31, 441, 961)

A) (17, 21, 27, 31) and (289, 441, 729, 961)
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B) (17, 441, 27, 31) and (289, 21, 729, 961)
C) (17, 21, 961, 31) and (289, 441, 729, 27)
D) (729, 21, 27, 31) and (289, 441, 17, 961)

34) fohd Tl @ 3T HHTIY &l IToHIT-3eT FH=aAT H afichc fohar ST Hehell 872

(17, 21, 289, 27, 729, 31, 441, 961)

A) (17, 21, 27, 31) 31T (289, 441, 729, 961)
B) (17, 441, 27, 31) 31X (289, 21, 729, 961)
C) (17, 21, 961, 31) 3iX (289, 441, 729, 27)
D) (729, 21, 27, 31) 31T (289, 441, 17, 961)

35) A larger cube is made from 512 smaller cubes each of dimensions 1cm x 1cm x 1cm. Then the

larger cube is painted on all the faces. Now if you consider the smaller cubes how many are
painted atleast on 2 faces?

A) 80
B) 216
C) 432
D) 72

35) Ueh 3T "7 1 JHT x 1 TFHT x 1 THT 3TATH WA o 512 BIC Tl ol THATH SATIT IRT & | TR 513

ool o T Heleh I Ue TohdT 3T § | TTE 3T B Tl IR AR Y af 318 & Tohdel o 2 Helsh I YT
ERIKIE IR

A) 80
B) 216
C) 432
D) 72

36) The average of the average monthly temperatures of February, March and April is 40
degree celsius. The average of the average monthly temperatures of April & February is 39 degree
celsius. What is the average monthly temperature of March? (in degrees Celsius)

A) 42
B) 40
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C) 38
D) 39

36) HIaY, AT 3T 30 & 3iaa A araae 1 3iaa 40 33 afcaaw &1 3 iR el &

it ATfae daraaTe 1 3itaa 39 f3aft afeaaa 81 A &1 3rad A1fde argar #ar gen? (el
afeaaa #)

A) 42
B) 40
C) 38
D) 39

37) Select the option that will make the second pair analogous to the first pair.
Cricket : Pitch :: Gambling :

A) Court

B) Temple

C) Classroom
D) Casino

37) 39 faehod &1 =& Y ST gET SIST Y Tgoll SISt & FHARY FlT &I

fohehe : ey =2 Spam:
A) :rE

B) Afex

C) et

D) &fa=r

38) What is the missing term in the number series given below?
1,5,11,19, ,41,55,71,89

A) 25
B) 29
C) 31
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D) 36

38) ofrer &1 TS AT AWl H HeTIREUT UG FT 32
1,5,11,19, _ ,41,55,71, 89

A) 25
B) 29
C) 31
D) 36

39) Six friends, P, Q, R, S, T and U, are going on a trip. The tallest among them is 13 cms taller
than the shortest. The height of R is average of the heights of P and T. The heights of T and R are
162.5 cms and 156 cms, respectively. Who is the shortest among them?

A) P
B) Q
C)R
D) S

39) g akd, P,Q,R, S, TR U T IR ST IR & | 348 & TIH el T, JaH oATC eI TFd & 13

QAT G | R T o515 P 3R T 61 ofea1s &1 3 ad §1 T 3R R 61 18 shael: 162.5 3T 3R 156
THT & 3oTh §rd T ATl PioT 872

A) P
B) Q
C)R
D) S

40) If PUSH is written as 1234, ROUGH is written as 65274, then the code for SOUP is

A) 3467
B) 3521
C) 7423
D) 6532
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40) A& PUSH &Y 1234 % ¥4 #, ROUGH T 65274 & 9 # for@r arar g, df SOUP & ferw &/ e
gram?

A) 3467
B) 3521
C) 7423
D) 6532

41) A set of statements is given.

a) Radha always lies.
b) Hari always speaks truth.

What will be the answer if Radha is asked, "Will you lie while giving the answer to this question"?

Which of the given set of statements should be used to decide the solution to problem:

A) Only a

B) Only b

C) Both a and b together

D) Not possible to decide even with both a and b

41) eIt T U TG 1T AT Bl

a) TE EHAT 3B Aercl ¢ |
b) R §HT T Srefdr gl

T 3T S8 Halel T SIS &l §U $S ST, IR [T & T ST, Tl AT ST G2

JHTIT & AT 71 0T e & AT v 1w syt F O fhgepr 3uaier foram s anfRw:

A) Fael a

B) &l b

C) a 31 b a1t T @y

D) a 311 b &t & @2y off oy aeerr wora AL &
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42) Which of the images amongst 1, 2, 3 and 4 is the CORRECT water image of the following
figure X?

S AR,

A) Image 1
B) Image 2
C) Image 3
D) Image 4

42) eataf@a @r-ia X & fov g s 1, 2, 3 3R 4 ufafewat & & aia ar @gr stor afafesa g2

X A 8N

X 1

A) gfafees 1
B) yfafass 2
C) gfafesa 3
D) wfafees 4

43) A set is given, (23, 12, 35). The sets given in options are similar to it in certain way, EXCEPT
one. Find the set that is different.

A) (46, 24, 70)
B) (35, 22, 57)
C) (36, 26, 61)
D) (68, 12, 80)
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43) T U< (23, 12, 35) far a7 | fahed # T 37T At 7 & Teh ol SISHL aTehr T4 tah T
Rk & Teh AT g,d8 A¢ AT HL Sl eI g

A) (46, 24, 70)
B) (35, 22, 57)
C) (36, 26, 61)
D) (68, 12, 80)

44) Given below a question followed by 2 statements. Choose the statement required to answer
the question by selecting an appropriate answer option.

Question : How many brothers do | have?

Statement 1: | have equal number of sisters and brothers.
Statement 2: My elder sister has 2 sisters.

A) Only statement 1

B) Only statement 2

C) Both statements 1 and 2

D) Neither statement 1 nor statement 2

44) ST T YT o TTY &T Y U T & | 37T 30X Ahed ol TIeT aich U2 &T 30 &l o ol
AR HYUel Yo |

gaT: A fohder oS 87

YT 1: F TgaT 3R HSAT 1 T&AT TA g
HYT 2: A TST IgoT 1 2 F8e1 o |

A) el w1

B) dhaer e 2

C) et 1 311 2, &=t

D) & v syt 1 3R A & FueT 2
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45) The average score of a batsman is 75 runs after 40 test matches. His highest score exceeds,
the lowest one by 258 runs. If those two matches are excluded, his average score will become 72

runs. What was the highest score of that batsman?
A) 259
B) 260
C) 261
D) 263

45) 40 TET HAT & d1G Teh Fooldlol Hl JTd ThR 75 Tl g | 3THRT 3TadH ThR [AFTdd ThR F 258
I 310 &1 Ife 37 oY Ha¥ oY enfAer A8 o Sirar § a 3Tt 3 9d TR 72 I &Y Swen| 39

TeddToT T Jafed TR FIT AT?

A) 259
B) 260
C) 261
D) 263

46) A is the son of B while B and C are the two sisters. E is the mother of C. If D is the son of E,
which one of the following statements is CORRECT?

A) E is the sister of B

B) D is the cousin of A

C) D is the grandfather of B

D) D is the maternal uncle of A

46) A, BHTeT g STafh B 3R C el g &1 E, CHT AT &1 TG D, Edhrder g, adl ea syt A
hisT TT Uh T &7

A E,BHTagA s
B)D, AT ooRT 61 &

C)D, B# et
D) D, A T ATATE

47) Vinay is the son-in-law of the mother-in-law of Rakesh's wife. Usha is Rakesh's only sister.
How is Rakesh's mother related to Vinay's wife ?
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A) Mother-in-law
B) Sister-in-law
C) Mother

D) Sister

47) TAAT TR T Ucail ST ATH FT STATG & | 3T IhA FT Shelldl a7 & | IHA FT AT FT AT HT Ieal
o T T QAT §2

A) gra
B) el
C) &t

D) sga

48) Which among the following statements provide equivalent information?
a) (P-2)(P-4)<0

b) P>2
c) P<4

A) aand b
B) bandc
C)aandc

D) All three a, b, and c give different information

48) AFATATYT HYAT H q hleT AT hYeT FHICU/FHTET SHTAhRT TETeT I 82
a) (P-2)(P-4) <0

b) P>2
c) P<4

A) a3 b
B)b3ikc
ClasiRc
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D) Fafr ftet a, b, 31X ¢ 379T-37619T SITTHIRT YT i &

49) In what way can the terms of given set be divided into three sets so that the terms in three sets
have same product?

(27, 12, 24, 18, 54, 36)

A) (27, 24), (12, 36) and (18, 54)
B) (27, 24), (12, 54) and (18, 36)
C) (12, 24), (27, 54) and (18, 36)
D) (27, 54), (12, 18) and (24, 36)

49) U a7 At & el o1, g adies & A det & f[enfaa forar a1 gear &, arfe =t et & et &t

IOTAhel TTHATT g2

(27, 12, 24, 18, 54, 36)

A) (27, 24), (12, 36) 3R (18, 54)
B) (27, 24), (12, 54) 31X (18, 36)
C) (12, 24), (27, 54) 3T (18, 36)
D) (27, 54), (12, 18) 31X (24, 36)

50) Which number pattern is different from the others?

A)3,5,9,17
B) 4, 7, 13, 25
C)5, 9,17, 33
D) 6, 19, 64, 210

50) hisT AT HE&AT Yot LT § 37eT9T 572

A) 3,5,9,17
B) 4, 7, 13, 25
C)5, 9,17, 33
D) 6, 19, 64, 210
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Section 2 - English Language

No. of Questions: 50

51) Identify the antonym for the word — Crude

A) Refined
B) Unrefined
C) Bad

D) Tasty

52) Choose the correct article to complete the sentence:
students were sitting quietly.

A) A

B) An

C) The

D) No article required

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) We have / (B) been frantic / (C) by worry. / (D) No Error.

A) A
B) B
C)C
D) D

54) Choose the best meaning of the underlined idiom in the sentence.

The villain ate the humble pie at the end of the movie.

A) repudiated
B) confessed
C) questioned
D) rejoiced

55) Fill in the blank with the correct pronoun:
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is a very pretty girl.

A) He
B) They
C) It

D) She

56) Fill in the blanks with the correct option:

Her car is excellent condition.

A) at
B) in
C)on
D) with

57) Fill in the blanks with the correct option:

The sea was churned up heavy winds.

A) with
B) by
C) of
D) to

58) Choose the correct option to complete the sentence:

He failed to complete the task because of his

A) perseverance
B) attentiveness
C) laziness

D) eagerness

59) Identify the Compound sentence.

A) Our dog was frightened at the noise of the fireworks and ran indoors.

B) Few plants can grow in such a frigid environment.
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C) It was a lovely spring morning.
D) I hit my head as | was getting into the car.

60) Choose the word that is correctly spelt.

A) Apease
B) Appease
C) Apeese
D) Appeasse

61) ldentify the synonym for the word — Servile

A) Driven
B) Slavish
C) Puerile
D) Royal

62) ldentify the synonym for the word — Fabulous

A) Incredible
B) Terrible
C) Rich

D) Copious

63) Fill in the blanks with the correct form of verb:

The college classical language courses.

A) offer

B) offering

C) were offering
D) offers

64) Fill in the blank/s with the correct form of the verb given in brackets:

My father often

(scold) me for things | am not responsible for.

A) will have scolded
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B) scolding
C) scolds
D) be scolding

65) Choose the correct verb to complete the sentence:
The old man cannot very well in the dark.

A) seen
B) see
C) saw
D) sees

66) Choose the correct verb to complete the sentence:
They the effort we had made.

A) appreciated
B) appreciate

C) appreciating
D) will appreciate

67) Identify the antonym for the word — Vague

A) Rough

B) Smooth

C) Fashionable
D) Apparent

68) Choose the correct article to complete the sentence:

Suman has always been shy child.

A) a

B) an

C) the

D) No article is required.

69) Identify the part of the sentence that has an error:
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I like your photographs so | send them for publication.

A) | like

B) your photographs
C) so | send them
D) for publication

70) Choose the meaning of the italicized idiom used in the given sentence.

For the principal, the school board's decision to expel his son for the reason of misconduct was a
bitter pill to swallow.

A) an unpleasant situation that must be accepted
B) an unpleasant medicine that must be taken

C) an unpleasant law that is passed by the government
D) a badly made medicine

71) Choose the meaning of the italicized idiom used in the given sentence.

Those who study both Mathematics and Biology in the 11th and 12th standards have the best of
both worlds.

A) living in two different countries at the same time

B) enjoying two different opportunities at the same time
C) having the best resources for two different subjects
D) having too much burden due to an extra subject

72) Fill in the blanks with the correct option:

Although complained about the bad roads,

took the intitiative to bring
it to the notice of the concerned authority.

A) everybody/ everyone
B) none/none

C) everybody/everybody
D) everybody/ none

73) Fill in the blank with the correct preposition:
He is two years older than .
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A) she
B) me
C) they
D) I

74) Fill in the blanks with the correct option:

He has been committed prison fraud.

A) to, for
B) for, to
C) with, in
D) on, to

75) Choose the correct option to complete the sentence:
Unlike the wholesaler, the sells directly to the customer.

A) seller

B) retailer
C) supplier
D) consumer

76) Choose the correct option to complete the sentence:
Cars must not be parked the gate.

A) in addition to
B) by means of
C) in front of

D) in regard to

77) ldentify the Compound sentence.

A) | took one look at her and cracked up.
B) The child crawled across the floor.
C) I've run out of milk.

D) They sat in the back row of the cinema.
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78) Choose the word that is correctly spelt.

A) Accompanement
B) Accompanyment
C) Accompaniment
D) Accommpaniment

79) Choose the word that is spelt correctly.

A) Averisious
B) Avericious
C) Averitious
D) Avaricious

80) Identify the synonym for the word —Callow

A) Dirty

B) Pure

C) Sophisticated
D) Immature

81) Identify the synonym for the word — Configuration

A) Confinement
B) Arrangement
C) Drawing

D) Alteration

82) Fill in the blanks with the correct form of verb:

She from school at 15 years old.

A) was expelled
B) were expelled
C) expelling

D) expels

83) Fill in the blank/s with the correct form of the verb given in brackets:
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My friend usually (pick) me up at the end of the corner and (drop) me at
the office everyday.

A) picks, drops

B) picked, has dropped

C) will pick, will drop

D) has picked, has dropped

84) Select the right verb for the blank:

She cannot read unless she glasses.

A) wearing
B) wears
C) wore

D) wear

85) Choose the antonym of the underlined word.
There is a very enticing dale in Rajasthan.

A) Dingle
B) Dell
C) Glen
D) Hill

86) Choose the correct article to complete the sentence:

Astronomers study what causes eclipses when they occur.

A) a

B) No article required
C) an

D) the

87) Choose the correct articles to complete the sentence:
dead no longer need help.

A) A, an
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B) A, the
C) An, the
D) The, no article

88) Identify the part of the sentence that has an error:
To each of our teachers, we bought a bouquet of roses.

A) To each

B) of our teachers

C) we bought

D) a bouquet of roses.

89) Choose the meaning of the italicized idiom used in the given sentence.
After five minutes of beating around the bush, he finally asked his manager for 2 days leave.

A) searching for birds

B) searching for excuses
C) avoiding the main topic
D) avoiding getting scolded

90) Choose the Pronoun in the given sentence:

It is a favourite game of theirs.

A) favourite
B) game

C) theirs

D) of

91) Fill in the blanks with the correct option:

You should abstain
A) for
B) from

C)in
D) on
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92) Fill in the blanks with the correct option:

The actor was besieged requests for autograph from her fans.

A) from
B) for
C)to
D) with

93) Choose the correct option to complete the sentence:
The bomb scare made the people of what might happen.

A) pensive
B) unconcerned
C) apprehensive
D) careless

94) Choose the correct option to complete the sentence:
| could not buy the shoes because the price was .

A) reasonable
B) affordable
C) fair

D) exorbitant

95) Identify the Complex sentence.

A) They offered no solution to our myriad problems.

B) Paul was named after his grandfather.

C) Some migrating birds can navigate by the moon.

D) Theirs was a partnership, which was based on mutual respect, trust and understanding.

96) Choose the correctly spelt word.

A) Inconsiquential
B) Inconsequintial
C) Inconsequential
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D) Inconsequenshial

97) Identify the correct synonym:

Impinge

A) Encroach
B) Sell

C) Buy

D) Exceed

98) Identify the correct synonym:
Exorbitant

A) Cheap

B) Inexpensive
C) Small

D) Excessive

99) Fill in the blank/s with the correct form of the verb given in brackets:

I (feel) like a stranger even when |

A) am feeling, was
B) feel, am being
C) feel, am

D) was feeling, am

(be) amidst my family.

100) Choose the correct verb to complete the sentence:
Shashi offered me to the airport, as it was on his way.

A) dropping
B) a drop
C) to drop
D) drop
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Section 3 - General Awareness

No. of Questions: 50

101) In April 2019, which company announced its plans to shut down operations in China?

A) eBay

B) Flipkart
C) Amazon
D) Walmart

101) 319 2019 #, ThT HYeiT o, TeT H SATIR &G FeT hT 3TeAT JTSToAT Sl TIYUTT hr?

A) &

B) Rreraerré
C) v
D) gferaré

102) Which of the following semiconductor materials is used in manufacturing a transistor?

A) Aluminium
B) Silicon

C) Graphite
D) Fullerene

102) giforeex & AT & Aeafafaa & & frg aeiissaex It 3reiares gerey &1 39ATeT fonar Srar &7
A) sregaifaas
B) fafareiaT

C) Irwrse
D)W

103) Who among the following is the first law officer of the Government of India?

A) Attorney General of India
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B) Governor of the state
C) Chief Justice of India
D) Prime Minister of India

103) AT H & hieT HRA TIHR T TUH Hlofel TR 52

A) IR & AGT=ATIaTE!
B) o9 & TegdTel

C) s1a % s =
D) 1R & wenet w3y

104) Which of the following treatises is the work of the poet-saint Tulsidas?

A) Ramcharitmanas

B) Manusmriti

C) Hari Chitta Satya

D) Ramadhanya Charitre

104) AT 7 A T AT 7Y HII-HeT T T TAThid &2

A) TEaRaa=Tg
®) wpea

C) ek R acw
D) e afia

105) Appam, a type of pancake made with fermented rice batter and coconut milk is a common
food in which state of India?

A) West Bengal
B) Maharashtra
C) Kerala
D) Odisha
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105) 3759H, Teh Yeh{ T eTeheh ToTl WHR 3& TTael o Bl 3R ATRIS o g8 & =17 STl &,
Ug AR & TR TSI T HTH HISTeT g7

A) qfas Fater
B) sgmTSg

C) aer

D) anfaem

106) India shares its land frontier with which one of the following countries in the East?

A) China

B) Pakistan

C) Nepal

D) Bangladesh

106) R qd f&erm & frafaf@d & & fora aer & A1 379aT 778 TAT-GE=0 T AT el 872

A) e

B) arferedrer
C) Jqrer

D) sieemeer

107) Which of the following separates Sri Lanka from India?

A) Duncan Passage

B) Nine Degree Channel
C) Ten Degree Channel
D) Palk Strait

107) fSeAtaf@ad & & Fa7 Sficler S 7IRA T 3ol HLdT 872

A) Seret TS
B) amge f2aft A=
C) & f3af derer
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D) ures ®ee

108) The remains of Indus valley civilisations are NOT found in which of the following states of
India?

A) Punjab
B) Uttar Pradesh
C) Guijarat
D) Odisha

108) fAFAffd & & 9IRA & fohd T 7 e Gt T & 3/ 7€ 9T 571 d &7

A) datrer

B) 3z gear
C) aomar
D) anfaem

109) One of the major sites of the Indus Valley Civilization 'Kalibangan', is loacted in which of the
following states of India?

A) Rajasthan

B) Madhya Pradesh
C) Uttar Pradesh

D) Punjab

109) T&Y] GTEr HIFAT o THW TYeil H @ Teh "SIt R & =i f@d # @ g T & Fua
g7

A) JrerEaTe
B) ey uger

C) zaT yaar

D) dore
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110) The '61st Amendment' of the Constitution of India, officially known as The Constitution (61st
Amendment) Act, 1989 has fixed the voting age of elections to the Lok Sabha and to the
Legislative Assemblies of States at

A) 18 years
B) 21 years
C) 23 years
D) 25 years

110) HRJ & AT &7 '61aT TLMErT, T 3N & & gy (61aT1 @eer) 3ifafagsT, 1989
& &Y H ST ST 8, o Sehastl 3R T2t 1 [Aerara@s113it & fov Ieirdt & HAderT $r 33 fohcel a3 &
g7

A) 18 grer
B) 21 grer
C) 23 grer
D) 25 grer

111) Which state in India is the first one to launch Crime and Criminal Tracking Network and
Systems (CCTNS)?

A) Maharashtra
B) Karnataka
C) Goa

D) Gujarat

111) AR & it AT TT F1SH TS fhfAeTer 2T Aeas U3 @Tecsd (CCTNS) dled et Tl Igell
T g2

A) FgrTSE
B) srefieen
C) aitar

D) sorra
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112) In 2017, India's first Rural LED Street Lighting Project was implemented in which of the
following states?

A) Odisha

B) Tamil Nadu

C) Jharkhand

D) Andhra Pradesh

112) 2017 #, HR I Tgell ATHIUT LED FEIT A1S{Ear IRAISTAT [Tl # & fohd T & 9] 1
5 ofr?

A) snfaar
B) affrerg

C) sir@vs
D) arier werer

113) Which of the following athletes created history by becoming the first Indian woman wrestler to
win gold medal in 2018 Senior Asian Championships?

A) Sakshi Malik
B) Geeta Phogat
C) Navjot Kaur
D) Babita Kumari

113) fa=fof@d 7 & forg vorelie o 2018 AR viRas dRIafAT & TaoT uge Siids arell ggalr
HRAT AT Tgerdl gt siaer I fear?

A) greh A
B) sfrar wiere
C) saaiia ®R
D)WW

114) Who won the FIFA World Cup Football 20187

A) Germany
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B) France
C) Croatia
D) Brazil

114) T Tavd & Hedie 2018 fohaat Siiar?

A) ST
B) wigg

C) srefaram
D) s1fSrer

115) Who was sworn in as the new Prime Minister of Palestine in April, 2019?

A) Mohammad Shtayyeh
B) Mahmoud Abbas

C) Benjamin Netanyahu
D) Rami Hamdallah

115) 319, 2019 & TRfAENT & AT FUTHAT & &I F fohaey a2 ofr?

A) ArgFae UddE
B) sgwg sreard
C)éaﬁﬂﬁ?mmg

D) 3r# gHcos

116) Which nation awarded Prime Minister Narendra Modi with its highest state honour 'Order of St
Andrew the Apostle' in April, 2019?

A) China

B) Russia

C) Israel

D) France
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116) 31¥eT, 2019 # fohd 2T o Tl HAT oG AIGT T 3701 Haled AT FFATT 3T 3Hh e T3
& UOEee § HEATRAC fohar?

A) e

B) v

C) gorrsa

D) sy

117) Which of the following phenomena does NOT occur during the formation of a rainbow?

A) Polarization

B) Total internal reflection
C) Refraction

D) Dispersion

117) SGIIN & 16 & GNIeT oot 3 & et Y aRerer w787 gl 82

A) %T:hWUT
B) qut stiafies wrac
C) sraacie
D) afyataor

118) The odorant added to LPG cylinder to identify the leakage is

A) Chlorine

B) Ammonia

C) Dimethyl sulfide
D) Ethyl mercaptan

118) R&Ta Fr ggaTd it o foIv LPG ezt 7 i AT 314eh Ao Siar g2
A) FedieT

B) smfaram

C) srseremse wowTss
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D) suréer Aiheea

119) What colour is discharged when neon gas is used in a gas discharge tube?

A) Red-orange
B) Violet-purple
C) Yellow-blue
D) Grey-off white

119) Ter 3 FeEamet Tge 3 it 3 & 3uter fana ST &, a8 disT &7 T faatord giar 82

A) ST
B) areere-darit
C) drem-rem

D) 337w sgree

120) Article 1 in the Constitution states that 'India, that is Bharat, shall be a '

A) Federation of States
B) Unitary State

C) Union of States

D) Quasi-federal State

120) HiqHTe & 3eTede 1 H el I & Toh, ‘$78ar, 3raTd o7, ........"

A) Troat T GRS &
B) dfrer T &

C) rat T Eer &

D) srf.aea s &

121) As per the Order of Precedence of the Republic of India, the second citizen of the country is
the

A) President
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B) Prime Minister
C) Vice President
D) Deputy Prime Minister

121) R ORI T G ha & AR, U T GERT AW hleT 872

A) rsgafer
B) germersa
C) smrsgufa
D) 39 e

122) Which of the following Deccan mountains are situated between the rivers Narmada and
Tapti?

A) The Aravallis

B) The Satpuras

C) The Vindhyas

D) The Eastern ghats

122) fAeafaf@d & & +ia a1 gaFanet gad, F3er 3R aredT Afear & S ffua &2
A) 3RTae

%) Hager
C) fgex
D) qdff eme

123) Which one of the following places in Jammu and Kashmir is known as 'Little Tibet'?

A) Ganderbal
B) Rajouri
C) Ladakh
D) Udhampur
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123) S1# 3R AR A AeAfaf@d # 4 forg Tur 1 Tolfee fdead’ & =16 @ ST ST 872

A) areeaer
B) gty
C) wegra
D) strert

124) Who is the author of the famous novel ‘Anandamath’?

A) Abanindranath Tagore

B) Natesa Sastri

C) Bankim Chandra Chattopadhyay
D) Rabindranath Tagore

124) ST8CY 39T 'HTHCHS' & ol@eh hiel o2

A) 3raeiegaATer SR

B) s are

C) sty TeeaTear
D) f§egarer &R

125) In Peshawar, who led and organised the Civil Disobedience movement?

A) Lala Lajpat Rai

B) Jawaharlal Nehru

C) Maulana Abdul Kalam Azad
D) Abdul Ghaffar Khan

125) MR H, HideTT =T JHIGTelel ol Hiced 3R 3AToTeT fehdte fehar am?

A) TeT dTeTaa I

B) Srarg¥errel 2g%

C) FHIETAT 3Gl FHelTH TG

D) 375G TR W
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126) As per Indian Constitution, a person who is arrested and detained shall have to be produced
before the nearest magistrate within

A) 12 hours of the arrest
B) 24 hours of the arrest
C) 36 hours of the arrest
D) 48 hours of the arrest

126) HRAT GfqersT & 3TaR fohelt caferd foa faIRerar foham aram gY 3R garernd & w@r 2 g1 38
foheel THY & 37eX [Ahedd SIS & I FEdd fhT STt 1 raen= g2

A) IRFIR 8= & 12 gel & i’
B) fOR7aR @1 & 24 ®et & e’
C) fAR%FaR g1t & 36 Hel & e}
D) AR 81 & 48 &el & i’

127) In the Indian Constitution, the subjects of Citizenship and Census is included in which of the
following lists?

A) Union List

B) Concurrent List
C) State List

D) Residual List

127) 9IRS HIGETel & ARTREAAT 3R ST & fawat st Te=ifai@d & & fohe I 7 enfder fvar
IRAT 2

A)q;'rq&;ﬁ
B) g &=
C)TI?IB\?JT
D) 3raferse g
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128) According to the Joint Sittings and Communications Rules of the Houses of Parliament, the
guorum to constitute a joint sitting shall be

A) One-eighth of the total number of members
B) One-tenth of the total number of members
C) One-sixth of the total number of members
D) One-fourth of the total number of members

128) TS & Heall & HYeFd Joeh T Halg Fath [FTAT & HTaR, HYFd S5 ST et o ford
IMOTYfet Hewdt S Fear

A) Sl T T&IT T TSAT HTT grafr

B) %ol HeE T&T AT HdT ATIT grafy

C) T weTT HET F TGOl AT g

D) ol HoTg HEAT T Teh TIATS 19T gl

129) Which of the following bodies is a constituent research laboratory of the Council of Scientific
and Industrial Research (CSIR) established in 1961 and conducts research on highly complex
structure and processes of the Earth system?

A) National Geophysical Research Institute
B) Indian Geo-Strata Research Council

C) Geomorphical Research Institute of India
D) Indian Geophysical Research Council

129) AT 7 A T &1 AP 1961 & T d=1feAeh 3R ek 1g@en=T aRwe (CSIR)

T Teh Hereeh M TINTRITET & X G2 JUTTell i 3rcaftieh Sifeer EXa=r AR Gfshansit 9T segaert
AT 82

A) Idrar et sreTaeTe SETe

B) sy of-Ferlir sregaieneT aivg

C) frnefhee Rad $¥éicye it gf3ar
D) s 1 afifaehr sregeens afwe
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130) Who among the following scientists from India won the Dan David Prize for 2017, for his
contribution in the field of Astronomy?

A) Jayant Narlikar

B) Subrahmanyan Chandrasekhar
C) Fathullah Shirazi

D) Shrinivas Kulkarni

130) @I fIATA & &F H IoToh ANNET & [olT, HRA & [AFATafd dafast # & frast 2017 & faw
ST 338 REwR Sirar?

A) Srie ATeTTa

B) geeAvas geaay
©) trefeetre RRTelt

D) shferarer gremmoft

131) V.J. Surekha one of the recipients of Arjuna Awards 2017 represents India in which of the
following sports?

A) Boxing

B) Wrestling
C) Badminton
D) Archery

131) 379]oT JEHR 2017 o ATCcAehdi3il H & Teh, ol FR@T ool & & fove @t & HRel &1
eI el erea el &2

A) s
B) srecht

C) Ssfiest
D) derstr

132) In 2019, which organisation created the Guinness World Record for the longest single line
moving bicycle parade in Noida?

A) National Disaster Response Force
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B) Central Industrial Security Force
C) Border Security Force
D) National Security Guard

132) 2019 #, fohH HITGT o AITST H HIH el FHaTeT WA1geT FHdaT AISTehel WS & T FIeiiet des Nepis

JATAT?

A) ereTel BeEeT Yqarg B
B) diger swdiiae dgRe wr
©) st et

D) srereter dergfReéY ams

133) The longest serving combat unit of the Indian Navy which turned 60 in 2019 is

A) Blue Tigers squadron
B) Red Tigers squadron
C) Black Tigers squadron
D) White Tigers squadron

133) ofF s FAY Teh AR AT 7 {all &at dTel Fledie Ffote et 2019 #H 60 el X 6T, 38 fovdt
TH & ST SATdT 872

134) According to the Food Safety and Standards Authority of India (FSSAI), the use of which of
the following chemicals is prohibited for ripening of fruits?

A) Calcium chloride
B) Sodium chloride
C) Calcium carbide
D) Sodium bicarbonate
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134) HRAT Wied TIET U HieTeh FIARIOT (FSSAI) o HATih, Hell Y Tehel & fIT fe=ifaf@d
THIAT H & 78 &1 39T ey g2

A) $TRIH FaRTSS
B) @\fza# Feivrss
C) $fera# Freiss
D) a\fzgs srerefae

135) Which of the following polymers is used to prepare soft contact lenses?

A) Polymethyl methacrylate
B) Polyvinyl chloride

C) Nylon 6

D) Polyacrylamide

135) fArafaf@d & & R 9ifaldT 1 STAATT TTHE Plecde ofF dIR il H HIAT FATAT §2

A) di RS e AAThHRIAT
B) qrehifaarse Feivss
C) Arreliat 6

D) aieufsrersmamss

136) Who among the following moved the Objectives Resolution which was unanimously adopted
by Constituent Assembly on 22 January 19477

A) Rajendra Prasad
B) K.M. Munshi

C) Jawaharlal Nehru
D) B.R. Ambedkar

136) fArafaf@d # & fordet 22 STAadl 1947 T GIGETT THT GaRT HAGFATT & 37TV 3T 3T
Hohed IR fohar?

A) Troteg s e

Page550f85



Setld: 61787 3 Technical Assistant (LAB) - Mechanical BATCH2 180CT2020

B) &.u#. Al
C) Sraretelrer Ag®

D) &Y. 31X, 3 ezt

137) Which among the following Articles of Constitution of India deals with 'Prohibition of Traffic in
Human beings'?

A) Article 21
B) Article 17
C) Article 23
D) Article 29

137) #IRA o WlAuTeT & fAFATATAT 3eTedel # A T AT AT S TR T gfdeer & deferd
g7

A) sre1ese 21
B) 3rgeda 17
C) 320 23
D) 3r7ess 29

138) Which of the following is an art form encompassing ritual singing, drumming and dancing of
Manipur?

A) Sankirtana

B) Ankiya Naat
C) Yakshagana
D) Koodiyattam

138) AT 7 & et AT Teh holl & & TGH AU oh TSN M, Srel AR e A &2

A) FIT
B) 3ifraree
C) gemema
D) pfgareen
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139) Dumhal dancers dress up wearing vibrant coloured robes and conical caps, which are
generally studded with beads. It is a popular folk dance of

A) Gujarat
B) Kashmir
C) Jharkhand
D) Karnataka

139) GHES slcieh 3TTehveh il a8 R QeraTehY €Il UgeTdl &, Si 37T R R Alferat & 5781 gielt &
7 e s &1 T 9Ty e ojcd §7

140) Who among the following is NOT an Indian classical Bharatanatyam dancer?

A) Saroja Vaidyanathan

B) Padma Subramaniam

C) Pandit Shambhu Maharaj
D) Geeta Chandran

140) FAFATTET 7 & PisT ARAIT AT ARTATCTH Adh el g?2

A) TR SegTe
B) qew gawioas

C) afee ere] FARTST
D) afrar =rge

141) Which of the following is India's first crowdfunded and crowd-sourced Sanskrit animated
feature film?

A) Meghaduta
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B) Punyakoti
C) Ishti
D) Bhagavad Gita

141) 3T W T 7R T Tgell 138 B3 (#Ns-fad M) 3R F135-AES Feapa vAaes e her
g2

A) Fegg
B)gwafr%
C) s

D) storae sfrar

142) Which of the following statements is TRUE for the rivers Sabarmati, Mandovi and Narmada?

A) All the three rivers flow into the Arabian sea

B) All the three rivers originate in the state of Gujarat

C) All the three rivers are east flowing rivers and drain into Bay of Bengal
D) All the three rivers originate at Bhima Shankar in Maharashtra

142) FeADY, A=rEY 3R s7e7er afeat & v Rrafaf@d & @ Sl a1 sy gdr g2

A) T e A 3R BN 3 g &

B) et et el aorrer ST Fveherel €

C) st chet TRt o oF g arely Rt ¥ T o Sy e o weeh ¥
D) wsft ey el FrgRIeg 3 37T et 3 foveroreh &

143) Which of the following temples was built by King Narasimhadeva |, the great ruler of the
Ganga dynasty?

A) Sun Temple of Konark

B) Virupaksha Temple of Hampi

C) Brihadeshwara Temple of Tanjore
D) Pancha Ratna Temple of Bankura
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143) 73T A & HETT ATHF TS AR [AFeed |, o AeAtaf@d & & FisT @1 #feT gtarar a1?

A) ot T gF AT

B) gt ot fawuret AfeY
C) &siit 7 Jeerar AfR
D) s &1 v Teet AfeX

144) Who among the following kings is the founder of Rashtrakuta dynasty?

A) Amoghavarsha
B) Vatsaraja

C) Dantidurga

D) Dharmapala

144) fAFAfaf@d TS3TT H A HieT Tsche 927 & TEATI 82

A) rATEay
B) qeerrat
C) gfargatt
D) ersfarer

145) As per the Election Commission of India, ‘Bicycle' is the recognised election symbol of:
(i) Samajwadi Party - Uttar Pradesh
(ii) Manipur People’s Party - Manipur

(iif) Dravida Munnetra Kazhagam - Tamil Nadu

A) (i) and (ii)

B) (ii) and (i)

C) (i) and (iii)

D) (i), (ii) and (iii)

145) R & fodTeel 3TEET & HTHR, ‘SSHGh’ [hen! AT YTodl FATd Felleh g

(i) FATSTATET 9Tel- 3 Ioer
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(i) AIOTQR drged 91t AT

(i) gfas HoAT SIH - dTHeIATS

A) (i) 3R (i

B) (ii) 31K (iii)

C) (iy 3R (iii)

D) (i), (i) 33 (iii)

146) What is Solibacillus kalamii; named to honour the late President of India Dr. A P J Abdul
Kalam?

A) New bacteria discovered by NASA on the filters of International Space Station
B) Robotic arm developed by ISRO to re-position satellite in the space

C) New vaccine developed by National Institute of Virology, Pune

D) Antibiotics developed by Haffkine Bio-pharmaceutical Corporation Ltd, Mumbai

146) R & fedaTel ISl ST, T U ST 37eqel helld ohl HFATIIA el & [T ATTAT Fifcra o
HolH FIT g2

A) 3RS 37afeT Tt & fheet TR NASA EaRT TS 3147 o727 Sfar]

B)  siafer ¥ 3uere &1 font & T: T atet & AT ISRO g@nT i Uaiifea agam
C) et EIeye 3T arRIdTS, IoT ZaRT s fd 73 S

D) g arat-weregfeame e faffes, #es qan fawfad ddemnfeas

147) Researchers from National Chemical Laboratory Pune, produced carbon from which of the
following agri-products to be used in Li-ion batteries?

A) Groundnuts
B) Sweet corn
C) Soyabean
D) Sugarcane
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147) T TATATAhRT TR YT o erehcii3it o el & @ @iet & ¥ 3curel & Li - 3mae
SRt & TFeFd g1 dTel Flelet T SculeT fhar g2

A) FHarerelr

B) Tdie et
C) drameer

D) ate=r

148) Which of the following options was chosen as the official mascot for the FIBA Basketball
World Cup 20197

A) Son of Dreams
B) Zabivaka

C) Turtle 'Olly

D) Ettie

148) fAF=1Ta @ & & et AT faehed FIBA STEhedlel fa9a s 2019 & o fRIeen gsient g
T AT?

A) gt 3T S
B) sdarer

C) céar '3iveelr
D) wredy

149) Who was the flag bearer for the Indian contingent at the opening ceremony of the 2019 South
Asian Games in Nepal?

A) Tejinder Pal Singh Toor
B) Rahi Sarnobat

C) Neeraj Chopra

D) Saurabh Chaudhary

149) 9Tl 7 2019 &i&0T TRIATS Well & 3cHTe ARG H AR Gol & Eaoldigeh shisl A?
A) afSiex drer i 1
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B) 1€ axalea
C) it Aasr
D) gicar gterdr

150) Sumrai Tete, a recipient of Major Dhyan Chand Award 2017 belongs to which of the following
sports?

A) Hockey

B) Athletics
C) Football

D) Golf

150) RIS <<, AR TeTie, RERR 2017 o Arccehdl eIl H & fohe Wl @ Fofed 82

A) gifr

B) werafeag
C) weafer

D) sirew
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Section 4 - Technical Knowledge of Mechanical

No. of Questions: 50

151) In Projection of solids, what does dotted line indicate?

A) Hidden Edges
B) Axis Line

C) Center Line
D) Visible Edges

151) 31 gerf & garqur #, [NEIgR IW@T 4T 3T LT 82

A) fag g fFaR

B) 37e7 Y@

C) &g xar

D) R@m$ &t arer ek

152) Which of the following operations is preferred for surface finishing operation?

A) Indexing
B) Milling
C) Dirilling
D) Lapping

152) fsfaf@d & & Fia 1 TRLAF Tdg TREHIOT TR JT TR AR 3TRersT & fou
AT 82

A) geafaeT

B) fafefr

C) fafefar

D) aifdfer

153) Which operation has the lowest material removal rate?
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A) Honing
B) Truing
C) Grinding
D) Reaming

153) fora 1T 7 AT g T &3 TaH T BIaT 872

A) QmoTeT
B) gz

C) feras
D) §f3far

154) Which among the following options is a machining process?

A) Sawing
B) Boring

C) Chiselling
D) Forging

154) famfof@d faeedt & & et & ven FM T ufhar 82

A) AT

B) erer(@Ram)
(03] ﬁaﬁg‘r

D) wifsiar

155) Which of the following is an example of GO and NO-GO gauge?

A) Ring gauge
B) Height gauge
C) Feeler gauge
D) Slip gauge
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155) fed=T & hieT AT GO 35T 3R NO-GO ITST ST 368RT &2

A) Rt I
B) grge 9o
C) frer st
D) feera s

156) Which quantity is a vector quantity?

A) Mass

B) Density
C) Volume
D) Velocity

156) ahleT AT A Tiger ufar g2

A) gegaTsT
B) g
C) 3maceT
D) gar

157) Weight of the body due to gravity 'g' is defined as:

A) Gravitational force of attraction towards the centre of the earth
B) Centripetal force of earth

C) Force experienced by body in water

D) Outside force acting on body

157) 3%cd 'g' o HROT U5 & aoiel i v Jehr aRen e fanar sirar g2

A) qedt & g T 3R HTHYOT T T6cd Tl
B) gt &1 dhearfarany ae

C) arehr 3 s gan 37w fomam o
D) fifs o SRR aTedy 5o
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158) What is the purpose of V- Block in the workshop?

A) To hold round/cylindrical workpiece
B) To measure taper on job

C) To check surface roughness

D) To measure dimension of oval job

158) GehITT H dl-selleh T 360 FIT g2

A) NA/STATHR THYT T Geha IGeT
B) Sife 9¥ 29X & AT

C) T T YT e

D) 312repR SiTe ST 3T ATYT

159) Why is a Hydraulic system more accurate when compared to pneumatic system?

A) Hydraulic oil is less compressible
B) Hydraulic oil is more compressible
C) Less oil leakage

D) More oil leakage

159) Frgaitachi(IA eeh) TUTTel &I Jolell H GadIleId(§TSgiToleh) TUTSI 37tieh Téleh T &2

A) gaenfard( gresifa) de & ddEgT
B) gamnford( gresitoren) del 310 aiiga §
C) &a1 3o Rama

D) 3181 a1 Rama

160) Which below mentioned category does vane pump belong to?

A) Reciprocating positive displacement pump
B) Rotary positive displacement pump

C) Linear type positive displacement pump
D) Linear type negative displacement pump
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160) i 3fedf@d Aol Sl & a7 99 & Ffad g2

A) JeITITHT ThRTcHS [T I

B) guff gericaes fawmae 9q

C) NfAER-cI=y ghRIcA® g 9q
D) MNfeR-ers9 FAerRicHs fEdTe g

161) A BOM refers to the list where the relationships among items like product and its assemblies,
assemblies and their parts, parts and their raw materials are indicated. What does BOM stand for?

A) Bill of Maintenance
B) Billing of Machines
C) Bill of Materials

D) Bill of Mechanics

161) BOM 38 ¥ &l HaTHd Sl § 5161 3cU1G 3N 3Heh 3rdeell, 3reel 3R 3e7eh 197, $m91T 31
3eToh Thed AT oI AHATAT & S Y T GATAT & | BOM T JOTHT &7 §72

A) Tt 3iTH Heta

B) fafeier it ahew
C) fyer 3it HeRaer
D) fyer 3iTw HAhfAeg

162) Shear stress acting on the principal plane is

A) One
B) Two
C) Three
D) Zero

162) HET FHcIS TR BRI HIEIUT Ficlaol fehelelr g2

A) &
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B) &t
C) St
D) et

163) What kind of stress is induced in a body, when deformation due to temperature variation is
prevented?

A) Volumetric stress
B) Bending stress
C) Thermal stress
D) Shear stress

163) SIS ATIHTT H d&elld & HRUT [GFIUT Sl AT SATAT § df {908 & FH R F gfasa (@) aRka
gIar g7

A) Imad=T gfderer
B) Seret gfaierer
C) ardr wfawer
D) srq&qor gfdser

164) Which of the following gears is used to transmit power in cars from driver shaft to driven shaft
when axes are perpendicular and intersecting?

A) Spur Gear
B) Bevel Gear
C) Helical Gear
D) Worm Gear

164) fAFfaf@d & & it a1 1R, arere At & A1feld ATHe deh HRT H A3 AfFrd TR el
o forT T fonam STl & ST 3787 oead 3R gfdses #id 872

A) TR IR
B) sae ffrax
C) gelieper foTR
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D) 73§ fr

165) Heat Supplied during change in enthalpy of a system is of

A) Constant Pressure process

B) Constant Temperature process
C) Constant Volume process

D) Constant Entropy process

165) Teh YOI I T eRT & aRacet & SRTeT 3AT 3mqfed

A) TR garg Hrafear g
B) R araere ufthar &
C) feeR 3made ufsrar &
D) feeR Icshd-ATT a1 Terdy gihar &

166) Who among the following introduced the First law of thermodynamics?

A) Charles
B) Carnot
C) Joule
D) Einstein

166) &=t & & fohdel STATITTART T gl fAITH FEIcl Fohar UT?
A) Tred
B) &isfe

©) et

D) smgedier

167) Which one of the following is a solid of revolution?

A) Prism
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B) Pyramid
C) Cylinder
D) Plane

167) fA=1Toif@d 7 & shleT AT IRHHUT T Teh 31 &2

A) BeH
B) _afae
C) aereT

D) gaaer

168) Where do we draw the side view of an object?

A) Horizontal Plane
B) Vertical Plane

C) Left Profile Plane or Right Profile Plane
D) Both the Horizontal and Vertical Planes

168) g Tohdl a&] & IS <Y I Thgl Wi o2
A) &ifast aFae 7
B) seater gacer &

C) aT¢ QIS GHA AT &IV NHIST T
D) @yt aifaret 3 3eater goAqet &

169) What happens during quenching process?

A) Temperature increases

B) Hardness remains constant
C) Hardness decreases

D) Hardness Increases

169) rHA YThaT & GRTT FIT BT &7
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A) aTIATT §¢ SATaT &
B) saRar R | g
C) FoRdT e g1 ST &
D) #haRar s¢ S &

170) Generally which method is used for cooling in annealing process?

A) Air cooling

B) Liquid coolant method
C) Water cooling

D) Furnace cooling

170) W T 9T TATRT ToRaT # effqerd = forg o &t &1 ST &R Srar 87

171) The main purpose of reaming operation is to obtain:

A) Smoothly finishing and accurately sizing a drilled hole
B) Tapping and sizing of a existing hole

C) Tapering of existing hole

D) Decreasing the size of existing hole

171) QAT 1 T FTI 38T FIT Yol FIAT &2

A) T3 T aTT &6 T Fgorar & BRI 3T Féear ¥ 3R FeTreT
B) Fisier g 1 aget 31X TS

C) wisEr &g $Hr Tafkar

D) Fiser 8% % 3R T FH HT
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172) Which of the following instruments is used to find the effective thread diameter?

A) Vernier caliper

B) Thread Micrometer
C) Micrometer

D) Steel rule

172) JHTAT U SATH I AT el o [T foldeT H T PloT T 3THIOT FAILT fohdT ST &2

A) afFR HemR
B) 915 ArgIAex
C) Argsraex
D) &rer &

173) In which one of the following statements is Lami's theorem CORRECTLY defined?

A) If three forces acting at a point are in equilibrium, each force is proportional to the sine of the
angle between the other two

B) Three forces acting at a point will be in equilibrium

C) Three forces acting at a point can be represented by a triangle, each side being porportional
to forces

D) The three forces acting upon a particle are represented in magnitude and direction by the
sides of a triangle

173) fAfaf@ad st & & Pl a1 e & 93T & T Re T IRANT FIar &2

A) I v &g R FRRA ofieT ST Tefolet ¥ &, A Tedeh Tef ga a1 & I & HIT & TSl &
eI BT &

B)  ww fig W #RRA et at Holet # giar

C) v g R et Tl T vk P37 G@RT T R ST 6aheT & TRt Tedieh 97T, el &
JeAH &

D) weh For I FREERY AT Tl 1 Tk PageT T A3 ganT ek AfFeTeys iR iR ganr et
ST &
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174) For a uniform lamina of general cross section like square, rectangle, the location of centre of
gravity is

A) at the mid point of its diagonals
B) at the corners

C) at the mid point of its height

D) at the mid point of its base

174) 997, 3T ST THTE hiF FeFlel & Teh FHTST AT o [T, JocaTehyoT she; T TUTT gl Bicll
X

A) ga ot & 72T g W
B) et

C) gadhr Fars & Aea g W
D) g@as 3R & #ew g W)

175) What does a feeler gauge check?

A) Radius

B) Screw pitch

C) Clearance

D) Surface roughness

175) Teh el ISl T SATadT 872

A) B=ar
B)@g@rﬁﬂ
C) 3{erelr

D) Hefg &1 ERea

176) How is sinebar specified?

A) By total length of the sine bar
B) The centre distance between the two rollers
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C) By size of the roller
D) Weight of the sinebar

176) AR &l &y fAfese fovam Srar 872

A) HT5T IR &1 Fef TS A
B) & Qe & e g 1 g0

C) e & 3ThR ZaRT

D) TTgeT IR & aotel gary

177) In pneumatic system the main function of throttle valve is to convert

A) High pressure fluid to low pressure fluid
B) Low pressure fluid to high pressure fluid
C) High velocity fluid to low velocity fluid
D) High density fluid to low density fluid

177) AT goTel & STER(UTee) aTed & A& w1 el # § o1 IRafdd e g2

A) 3= gaTd & alel A Gald & aiol & IRafdd e
B) &# 2a1a & adl Y 39 2419 & ool H gRafda T
C) 3=g 39T &F a3l Y FH 397 & el & gRafdd HIaAT

D) 3% geTca & dRl T & Helcd & el F IRATIT el

178) What is the main purpose of using baffle plate in hydraulic oil tank?

A) To support the tank structure

B) To differentiate incoming and outgoing oll
C) To prevent generation of air bubbles

D) To prevent leakage

178) garTiolcl( gT83ITeieh) el Eeh & ol Tolc T 3TN el I T 36T FT §7?
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A) ¥ EITAT I HERT &1

B) 31aeh 3R fAaci#Te dor 7 3] e
C) gaT o JeAgel & Sefel T Achedl

D) Rara &Y Aepetr

179) Which file contains list of the single level components and quantities needed to assemble a
parent item?

A) Product structure file
B) Item master file

C) Routing file

D) Work center master file

179) foF<T 7 @ et W BT F 367 Uehel T Teeh X AT A1 Gl har Sirdr & S veh Fol a&q
I AT e & [T 3TaTH g7

A) FcqTe TITT B el

B) g A IS
C) wfear wrger
D) g dex AR wigel

180) The Poisson's ratio for steel varies from

A) 0.23t0 0.27
B) 0.17 to 0.20
C) 0.271t0 0.30
D) 0.32t0 0.42

180) TTel & AT CaTdl 3earel Y fHeeTalT fohcat gicl & 2

A) 0.23t0 0.27
B) 0.17t0 0.20
C) 0.27 t0 0.30
D) 0.32to0 0.42
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181) Hoop stress for a thin cylindrical vessel subjected to an internal fluid pressure is equal to

A) o = pd/4t
B) o = pd/2t
C) o = pd/8t
D) o = pd/t

181) 3HicAfeh el UeTd & &alTd & HEfleT Teh TcTel SolellhR I & ToIT g Ficiaol fehdeh SRTS gIelT 82

A) o = pd/4t
B) o = pd/2t
C) o = pd/8t
D) o = pd/t

182) What are Kinematic Pairs?

A) Minimum Instantaneous Centers

B) Two elements having relative motion

C) Two elements having no relative motion
D) Two elements held together mechanically

182) e ATfdesh(wrIAAIH) SIS Fa1 872

A) sgsTaH ATchiors g

B) gmafeyes a1fay arer &Y aca

C) e dca fo=1et amaferss iy gt &

D) Zifyes &7 & e @1y 3mAfSd & aca

183) The change in internal energy of a gas is a function of temperature. This statement is also
known as

A) Charle's Law
B) Joule's Law

C) Regnault's Law
D) Boyle's Law
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183) g F 3TaIRF ST & IRGT, ATTHTST FT Teh TohT &, 3T FHUeT I 3T & F Y ST S1ar &

A) Tred #1 AT H
B) et @1 fage

C) Gretee 1 @9
D) starer &t s

184) Which among all possible cycles of heat engines achieves the maximum efficiency?

A) Rankine
B) Stirling
C) Carnot
D) Joule

184) FSAT 3371 o G FHTTAT Tohl H § fAFATATET H 8 Tohd T a1 31TAhd A G&TaT Ired & ST
872

A) e

B) Tefdiar

C) sisife

O) e

185) How many number of faces are there in Dodecahedron?

A) 4
B) 8
C) 12
D) 16

185) gargerhelsh H fhdsl Heleh gl 87

A) 4
B) 8
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C) 12
D) 16

186) Assume a line AB of length 100 mm which is in first quadrant and is parallel to HP and
perpendicular to VP, then we can find the true length of the object in

A) Front View

B) Top View

C) Both Top and Front View
D) Not possible to find

186) HTeT oNITSTT foh 100 mm ST Ueh TG AB it Ug el TIqTer # § 3R HP & FAENICR & iR VP &
Sad &, Al §H TE] T eI deh oaTS el a7 Tehd 672

A) the g 7

B) efq =g

C) et 3R she o =t 3
D) arer @stg g &

187) What happens to Hypoeutectoid steel after cooling during annealing process?

A) Converts to Pearlite
B) Becomes Cementite
C) Becomes Iron

D) Converts to Austenite

187) THITIIT YTshaAT & GRTeT 33T gl & dTG gISuIgeareids FEled T T glcll 672

A) Rrarelise F aRafda grar g
B) @sierse s ST ¥

C) Sgr a7 STar &

D) sifeesge # aRafda g &

188) Which one of the following tool is used to remove the drill bit from the drill chuck ?
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A) Centre punch
B) Chuck key
C) Dot punch
D) Chuck driver

188) f3oT e & T3 Tk & getel & foIv Tt & & SieT IT 3SR 3uAeT fovar ST g2
A) dex U

B) @/ T

C) gfe i

D) rer g8}

189) Which of the following is the finishing operation to produce a flat round surface around
already drilled hole?

A) Counterboring
B) Spoting

C) Countersinking
D) Trepanning

189) feAfaf@d 7 & Fi @1 yger & 3t fhT 10 S & 3THITH U JUTE el Adg Fl TATOT et b
T gRrseRyoT a1 TFfATRAeT 3TaRere &7

A) gsealty

B) gmiféar

C) sizecfaaia

D) $dfetar

190) What is the function of LVDT?

A) It converts stresses to force
B) It converts linear displacement to electrical signal
C) It converts energy to electrical signal
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D) It converts stress to electrical signal

190) LVDT T &1 &7 &7

A) I yfaeell & ol 3 TRafdT Har &

B) g {Ties et 1 Rieger Hebet o1 ARl el &
C) a5 Froft 7 gt et 3 TR afeler et &

D) a1 yfererer ahr Fereger Tt 31 TRIfeler el &

191) Ratio of total flux to useful flux in a magnetic circuit is

A) Form factor

B) Depression

C) Utility

D) Leakage factor

191) Teh JhIT IRYY H ol FoIrd A 3TN FoIshd T 3eTdTcT FIT gl Sicll 872

A) e et
B) f3erer

C) gfeferedr

D) ofrepat therex

192) What kind of energy is possessed by the wheel of a moving car?

A) Kinetic energy of translation only
B) Kinetic energy of rotation only
C) Potential energy only

D) Kinetic energy of translation and rotation

192) T Telcll §5 HR & Th IfgT # e e 1 il glell &7
A) Srael TATTART ITTaeT Sl
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B) &aer gy &1 a1farst Tt
C) Fraer feufast sair
D) raraiaia ik gwet & aifast Fa

193) Identify the optical strain gauge from the following options.

A) Unbonded wire strain gauge

B) Bonded wire strain gauge

C) Marten’s and Tuckerman strain gauge
D) Foil strain gauge

193) fas=faf@d fasedt & & e Tt et FI ggar HifAT]

A) 3618 aRR o 1]
B) sfugs arw & et
C) A1ésT 3 cortdle T IS

D) wiget €t st

194) What is the position of Pressure line filter?

A) Just Before pump
B) Just After pump

C) At the end of circuit
D) Between two DCVs

194) IR 13T heel T TATT HisT AT 8?2

A) 9 & Sis Igar
B) qq & &1k a1e &
C) aRtger & 3iq &
D) @ bcvs & drar aF

195) In production planning which is the preliminary stage?
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A) Product development and design
B) Capacity planning

C) Material requirement planning

D) Scheduling

195) 3cUTGel 3TATSTeAT H IRTHS TXT hiel AT g2

A) 3cure &1 Taera 3T fRarseT
B) exarar asram

C) grealY 3maeTerdr At

D) rsgfofar

196) Which of the following aspects of product is concerned with the efficiency of the product
performance?

A) Functional aspect
B) Operational aspect
C) Durability aspect
D) Aesthetic aspect

196) FAe=faf@d & & 3cure T hleT AT Tge] 3cUTe; fAsuTest i gafdr 4 Fafad g2

A) FrTcA gaT
B) uRarerst gat
C) Tanfea vt

D) #errcaes gar

197) What is the magnitude of shear stress in the center of a shaft subjected to twisting?

A) Zero

B) One

C) Less than One
D) Infinity
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197) FS o 31ENA ATFC & ohg, H ITIRIUT Gfddel sl IRHATT fohcl=IT 8T 52

A)
B) us
C)wwra s
D) 3

198) Which of the following mechanisms produces mathematically an exact straight line motion?

A) Chebyshev linkage

B) Watt Mechanism

C) Peaucellier's Mechanism
D) Grasshopper Mechanism

198) feATaf@d 7 & Pl &1 A AT AT 9ihaT AT T F T el Tt IW I1fd 3ceaT
AT &7

A) Afega foieher

B) are #afaeH

C) Rrafasr s
D) iR defaea

199) How many links are there in Hart mechanism?

A) 8
B) 4
C) 12
D) 6

199) gT¢ Harfoioad H fohdst foish gl 82

A) 8
B) 4
C) 12
D) 6
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200) Highest calorific value of coal is found in

A) Anthracite
B) Bituminous
C) Lignite

D) Peat

200) Il T ITATH FSHY A (heilRTtheh dog) fehaad aram e g2

A) T
B) fefiera
C) faremse
D) dre
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